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Python SZ¥j:

numpy

AHP:




array) :

.array = array

.n = array. shape[0]

.eig val .eig vector = np. linalg. eig( .array)

.max_eig val = np.max( .eig val)

.max_eig vector = .eig vector[:, np.argmax ( .eig val)].real

.CI val = ( .max_eig val - .n) / (

.CR val = .CI val / ( LRI list[

test consist(

.CI val))
.CR val))

.CR val <
( .CR val) +

.CR val) +




cal weight by arithmetic method (

col sum = np. sum( .array =0)

/

array normed = .array / col sum

array weight = np. sum(array normed

array weight

cal weight by geometric method (

col product = np. product ( . array =0)

np. power (col product .n)

array_power

array weight = array power / np.sum(array power)

array weight)

array weight

cal weight by eigenvalue method/(

/ np. sum( .max _eig vector)

array weight = .max_eig vector /

array weight)

array weight




name

array ([ [

array ([ [

array ([ [
array ([ [
array ([ [

array ([ [

AHP (e). weight by arithmetic method ()
AHP (a) . weight by arithmetic method ()
AHP (b) . weight by arithmetic method ()
AHP (c). weight by arithmetic method ()
AHP (d) . weight by arithmetic method ()

AHP (f). weight by arithmetic method ()

res = np.array([a, b, ¢, d, fl)

ret = (np. transpose (res) * e). sum(

(ret)




